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The words of Rabi Mayer - T°R% 929 9927

Overview

We learnt that in the case of M3 Pan 1°° 1?1201 he is permitted to drink the wine,
even though he was not w157 yet 1170, but since he said that he will be n"n w151
later, so we consider it as if now the »"17n are the wine which will remain, and the
wine which he is drinking is already j?1nn and is not 72v. The reason is because we
say 7772 v°." Our mooIn reconciles our X3 with a seemingly contradictory naa.

= 119992 7YY MINT NIPDNA N2 9INRP 2193 NN 229D 219592 991 299 %Y FPIRT YIWUN
It seems that »''% maintains that we say 77992 v, and even according to %'
(who prohibits drinking the wine until he was n"17n w™9n), R39 states in the

conclusion of our X723 that °"1 also agrees that 779393 v> -
- 21930 nYYPaAY YHONT DIYM TONR NI

And the reason he prohibits drinking the wine here is because he is concerned
that the barrel will burst —

mooIn cites a seemingly contradictory Rna:
- Y99 ROY 1Y 1913 932 o407 mmaa) 9993 W 9993 19N
However in 7122 2 799 regarding the case of ‘they paid before they divided’, etc. -
= YON 293 DTN 29 9NN 2297 NI PN
N2 established the views of 3''1 %''3 according to R''9; they both agree with X" -
- 919 RPODM NNYN *MNDY NENNY PYUN NENN 1PINY PAND 9NT

' 7972 v in this case seems to accomplish two things; that we consider the 7w1571 which he will do later as if it is
effective now retroactively (so he is not drinking 22v), and also that we assume that the »"11n are in the leftover wine
(which he separates later), and not in the wine which he is now drinking.

* »" maintains he may drink the wine relying on the w1971 which will be made later, as being effective retroactively.

3 1If the 71 will burst there will be no wine to be 2"1n w51 from; he will be drinking y151% 22v.

* The issue there is where a woman gave birth to twins (in her first pregnancy), and the father of the twins (who was
not 179 either one of them) died, whether the twins have to be 7719 themselves and give the 173 the five 2°v%0. n"3
maintains that if they gave the 0°¥20 "1 before the twins divided the estate, fine and they cannot claim it back, but
after they divided the estate, neither is obligated to pay, since each one can say that he is not the 7132. However *"1
maintains that the estate is liable for the five 0°¥20 (since one of them is a 7153, and the father was obligated to the
173 for five 0°90), therefore they both have to pay, even after they divided.

5 5ox 21 is in doubt whether we say 772 ¥° so when children inherit the estate, each heir receives the assets that
were destined to him, or do we say 777°72 X and each heir may have received his brother’s share, however they each
agree to barter their shares, which makes them nimpY; they purchased their shares from each other through this
barter. Since it is a po0 therefore we say half their share is 2°w1v (for perhaps 7712 v°) and half their share is Mmp>
(for perhaps 717°72 PR). The details of how this explains the npY?m between "1 n"9 is somewhat complicated (and
not that relevant to our discussion here). Nevertheless what is relevant to us is that >"71 n"9 agree with *oX 27 who is
unsure whether we say 717°72 ¥° or 7772 7°X, and here we say that both *"91 »"7 maintain 77°72 v°!
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Who maintains, the brothers who divided an estate are considered half heirs,
and half buyers; it is evident that they are in doubt whether 77712 v or 7772 PX.

mooIn responds:
- Sr99NY PNY SINY PN WI192 NINMY 19937 9931Y NI 3 PN v

And one can differentiate between the case here where he clarifies his words

and stipulates clearly and states ‘which I will separate in the future’, in this case

we say 172 ¥, since it was clearly stated and stipulated, and this case is different -
- 7195 9931 1INV IPHNY PHANT XINNY

Than that case of brothers who divided an estate where nothing was made

clear, in such a case we are unsure whether 77°72 ¥° or 7712 X —

In summation; '01n distinguishes between a case where we say explicitly what our intention is, in
which case *"1 n"1 agree that 77°M2 w°, however in a case where nothing was stated, we are
unsure whether 777°72 @ or 77772 PR.

Mmoo responds to an anticipated difficulty:
= 1N 229N 1INI? 2297 72997 (3,00 97 xnp xa2) NAINNI)

And in 72792 P15 where the X712 asks a contradiction from ' on 3''9, namely -
- 719592 199 1957 19990Y 1PINY PHAN a0 19593 1Y TN “opYnnn Y91 XoNNaT

For in that case of ‘anything which will be picked’, °"7 maintains 779592 >, and

regarding ‘brothers who divided’, we know that >"7 maintains there is no 7993 -
- Y3w 92975 PHNY 38 710 0% ROWID TN DY 12 MM

And because of this question the X923 retracted (the changing of the X017 from
VP17 9o to vPYNAn ), even though the X3 could have differentiated between

® He is stating clearly that the »"9n will be from the wine which he will separate later, after he will drink the wine
now, so it was made clear that the wine which he is drinking is not the n"17n, so there is a clear distinction between
the wine he is drinking and the wine which he will separate.

7 Seemingly this may mean that there is no way for anyone to state that ‘I am receiving my intended share of my
inheritance’, for it is not clear which assets belong to which heir.

¥ The mwn there discusses what was done to prevent people from picking the fruit of *va7 275 orchards and eating
them there, when these fruits must be either redeemed or taken to 2°>w17°. The 7awn states that the PyI¥ owners of
these orchards would place aside money and say, whatever was picked should be exchanged for this money (so the
people will not be eating °¥27). The X713 had a difficulty with this [one cannot redeem the fruit which was picked by
someone else, for it is no longer \Mw131], and 7371 "1 changed the 72wn to read (not vP%7 %3, but vpPNKI 93) whatever
will be picked, should be considered exchanged for this money. However this works only if we maintain 772 w°
that when it will be picked later it will be considered as if it was already redeemed.

9 »"5 disagrees with *Ox 21 regarding 2omw 1iX7 and maintains that they are MmpPY since 77712 PX.

10 By °ya1 we find that 77°72 7°2 n°K *"1 and by 7nw 0°nX he maintains 7772 PX.

'" The xm3 could have said that by *y21 he stated clearly his intention therefore 7772 v, but by ponw Prx: there
was no declaration as mentioned previously (see footnote # 7), therefore 717772 PX.
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the two cases as we have just explained -
- 15NN NPT VPYIN Y2 BNYY 191Y 1YY NNT NIN

However, the reason the X3 chose to retract is since it was easier to say that

really the X073 is upan7 92 as it was stated in the 732 instead of vponna 93 -
- 20951 XY 0999 93519 1159 RN
And it was also easier to say that really you should not switch around the o>xin -

maon offers an alternate explanation why the X723 there did not distinguish between the two cases:
= AN 2297 TTIN D NOWP 1IN SNIN 191 2IWN NN INT T

And additionally if the %71 would have answered in this manner
(differentiating whether it was clearly stated or not) there still would have been a

difficulty with the other ruling of "' -
- Y5019 139X PINN 9N P9ruh anan

Where "1 stated previously, even the last case does not disqualify her from nn1s -

modIn comments:
= 995987 919D Y81 NN 151)1‘\1’ 294 99593 Y91 O8I 29 INTY DIV

And previously when the X713 taught that the two cases of >''3 were necessary,
the X713 could have certainly said that it is necessary for >3 to say both cases -

- Bywra91 oyvn 75919 198 PINK GRT 18Y M0 RY 19 CmnnsT Xennnt
Since that from that case of 37 nymp», where °"1 maintains 77°72 PR, we could
not have derived the rule that %21 YR PIMR ONR since we maintain 77°72 PX,
because of the reason which I have explained -

Mmoo offers another example how his distinction resolves a contradiction:
- SRINYIN TNV 293 NYAN UNNyL NN

And this reasoning will resolve a contradiction between two rulings of »Xwaw -

"2 In order to change the X073 of the 73w» from P17 93 to VPYNMA 23, it was also necessary to change the views of "
77 and X017 . However now that we retain the original X073 of vp217 25 we can also retain the X072 for the 2°Rin.
13 ®,79. There "1 ruled that even in the case where he said WX onn 73R A1KRY, it is no WA at all and she is
71170% NN since the rule is 7772 PX.

'* This would seemingly contradict the view of *"1 regarding *y21 (where *"3 maintains 77°72 °). In both cases a
declaration was made and nevertheless we find conflicting views of >"9. See “Thinking it over’.

13 x,72. The X3 explained that it was necessary for *"7 to teach us 7772 PX both in the case of our mwn regarding
WK 0777 7¥RW 7R and also the case of 10w 1Pk, because we could not derive the cases from each other.

' See footnote # 9.

"7 See footnote # 13.

'8 That even though by 17 MmpP> IR we say 772 X, but that is only because there was no declaration made,
however in the case of 201 11X R AR, he clearly stated WK 7¥IRW 071 71K, so there perhaps we do say 712 .
" See text by footnote # 6.
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- Pyam 25507 NV INIDY PPIN (3,79 41 1555) IWNHNY M P192T
For in wnxw s» p99, it states that "Xw instituted by a w3 of a ¥y» 295w, that the

n"2w should stipulate -
= 119992 YT 920 NIUN RV %1 N1 3991 V) XN NI ¥NN XY ON V) XN 'NN DN

‘If I die from this sickness it should be a v3 as of now, and if I do not die and
recover it should not be a v»’, so if he dies it is a v retroactively, indicating that

SR maintains 77992 @S -
$ON M) HANT INNIY TN MONMYA NNNY AN INPIY DIV ) (3,5 97 NN 91D

However in the end of 17%°2 noon regarding two people who bought a barrel
and/or an animal in partnership, »X»w ruled that the barrel is also
prohibited®' to be taken out of the mrn of either partner.*

Summary
We can differentiate that when there was a clear declaration of the intention (like by

" Y2, or by the n">w), there is more reason to say 717°72 ¥, than in a case where
no declaration was made (like by 2%nw 1°nx:7 or regarding the n°an by 1mn).

Thinking it over
moown writes that if the X1 would have reconciled the contradiction between the

two rulings of 71 M, by differentiating whether or not a declaration was made,
there would still be a contradiction between "9 of *¥27 (where 7772 ¥°) and °"
regarding WK 7¥IRY P8 (where 7772 1R).” However we can seemingly
reconcile this contradiction based on what MmpoIn wrote previously,” that even
according to the one who maintains 77°72 >, he will agree that in the case of X
WIAR ¥INW it is 7109, since it is not considered sufficiently nnwh. Why does our
MooIN maintain that it would be a contradiction?!*

2 A yn 29w is a deathly sick person. He is concerned that if he dies his wife will need 212° or 7ix’>n. However if he
divorces her there is no 212° 7"7. He, however, does not want to divorce her in case he recovers. Therefore PX1w
offered the following solution.

! They both own the entire barrel of wine. When they divide the barrel and each one takes half the barrel, so (if we
maintain 77°72 PR) each partner has a share of the wine in the other partner’s share. Therefore each partner cannot
take this barrel of wine outside (his 2110 obviously and also outside) the partner’s 211n. The objects which belong to
a person may only go wherever the person himself may go.

2 We can resolve this contradiction (that by a »"5w he maintains 77°12 2”, and by 170 he maintains 7732 TX)
according to moon distinction, that by the »n">w he was 7721 by making a clear declaration, therefore Xmw
maintains 7772 ¥°, however by 12110 no declaration was made therefore the rule is 77772 X!

 See footnote # 14.

2 ey 17 3,70,

* See mwn noma.
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